
Pick Up Bed Dolly

Auto Body Toolmart
Champ Frame Straightening Equipment, Inc.

2545 Mi l lennium Dr. ,  E lg in ,  IL  60124  (800)  382-1200
www.autobodytoo lmar t .com

Frame Straightening Equipment Inc.

Made In USA



A 2 - Bottom Base
B 2 - 46-1/2” Square Tubing Cross Bars

preassembled
C 4 - 29” Square Tubing
D 2 - 60” Top Bars with 2 Sliders
E 4 - Wheels - 2 with brake 2 without brake,

4 - 1/2” lock washers, 4 - 1/2”nuts
F 8 - 5/16” x 2” Bolts
G 8 - 5/16” Lock Nuts
H 8 - Washers
I 4 - Tubing Caps

Pa r t s  L i s t

A

B

C

D

EI

F
G

H



• Place the two bottom base pieces
parallel on the floor

• Attach wheels to base using the 1/2”
lock washers and 1/2” lock nuts.

• Lock wheels to keep base from moving. 
Insert the 46-1/2” cross bars into the
angled square tubing area on the base.

• Attach the 60” top bars to the cross bars. Make
sure that the sliders are pointing down towards
floor like in the picture above

I n s t r u c t i o n s

1. 2.

3. 4.



5.

• Attach the 4 - 29” square tubing pieces.
Each piece connects to the base and to
the sliders on the top bar. 

6.

• Use the 5/16” bolts, 5/16” lock nuts and
washers to attach the vertical tubing to
the base and the sliders.

• Finish by placing the black caps on the
open ends of the top square tubing bars.

7.


